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1990 2009

6.A 9,061 7,640 7,636 3,303 3,593
CH, 9,061 7,640 7,636 3,303 3,593

6.B 3,409 3,405 3423 2,335 2,342
CH, 2,120 2,118 2,130 1,247 1,252
N,O 1,289 1,287 1,293 1,087 1,090

6.C 14,656 13,796 13,796 15,632 15,632
CO, 13,117 12,263 12,263 13,984 13,984
CH,4 14 13 13 n n
N,O 1,526 1,519 1,519 1,637 1,637

6.C 9,313 9,550 9,550 14,822 14,822
CO, 8,879 9,116 9,116 14,390 14,390
CH, 49 49 49 o2 2
N,O 385 385 385 340 340

6.D 743 730 796 560 869
CO, 703 703 703 514 514
CH,4 20 14 49 25 188
N,O 20 13 44 22 167
37,182 35,121 35,201 36,653 37,258

44 5.8

t-CO,



1990 2009
6.A 9,061 7,640 7,636 3,303 3,593
CH, 9,061 7,640 7,636 3,303 3,593
6.B 3,400 3,405 3,423 2,335 2,342
CH, 2,120 2118 2,130 1,247 1,252
N,O 1,289 1,287 1,293 1,087 1,000
6.C 14,656 13,796 13,796 15,632 15,632
CO, 13,117 12,263 12,263 13,984 13,984
CH,4 14 13 13 n n
N,O 1,526 1,519 1,519 1,637 1,637
6.C
CO;
CH,
N.O
6.D
CO, 703 703 703 514 514
CH, 20 14 49 25 188
N,O 20 13 44 2 167
27,869 25,571 25,651 21,831 22,436
-14.6% -12.5%

t-CO,
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